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I Analysis of the first nywn — how much differential needed between myv and nxmn? Dispute YX1nw/17
a  17: the denial must be 2 qo3
b 5®mnw: the denial may be as little as a no19; 2 qui is the minimum amount of the claim
i x17:the mwn seems to support 19, whereas the 0’pyoa support YRINY
1 mwn: records nRTIN as being a nv119, not the N7793 (and same in MW in n”a which i.ds N9 as IRTIN NYY)
2 poa: 0992:q03 (v. 1) —just as ©93=2 (at least), so with qu3, and it states (v. 2) nt X0 » (i.e. that’s the entire claim)
(a) 127 that’s needed to inform us about myvn n¥pna TN
(b) Sx1nw: that's why it says X1, and 0t — for both n¥pna nmn and qod 'NY as amount of NYv
(i) 1211 for myvn nxpn and the other for niyvn Pnn
(if) “®mw: nx¥pn > Pnn (no need for 2 separate sources)
(c) 17 "qua”is unnecessary for minimum n1Yv — (inferred from "o'92”) = NPa3 NYY
(d) Sxnw:if it only stated n’53, 870 that 0’53, which are insignificant, require 2; v could be just one - 9"np
ii ~ Proofs: opening clause —isn’t the exemption due to the insufficient amount of the denial (supporting 14)?
1 Defense (581®): qo3 (silver) and nva (copper) are precise —exemption due to denial and claim being unrelated
2 Challenge: why is he liable in 27 clause (claim: 403 "nw+nv19)?
(a) Answer: YR1nW maintains that if the claim is A+B and he admits all of B and denies all of A — liable
3 Support for Sxpw: latter mwn — if he claims a 870’5 of gold and the defendant admits to a 8105 of silver — exempt
(a) Implication: the mwn’s terminology is precisely referring to those metals and not to value
(b) Response (27): mwn is referring to value; 8107 is the “standout” case where it is precise
(c) Support: from next clause, where anr 17 answered with other coins is liable
(i) Block (&79): that may be a case where he claimed an amount (13>7) in coins; teaching that nvmais a coin
1. 37 it means that all coins have a yaon 7
(ii) Question: does 8™ support Y81V throughout?
1. Answer: he doesn’t “support” YRnw at all, that’s just how he reads the latter nywn
4 Support (for 5x1pw): kN1 - if he claims a 2301 201 927 — must be gold (= if he didn’t say 230t a0t — means “value”)
(a) Rejection (»wx “7): means that any mention of ant 137 is as if he said 2101 ant
5  Support for 27.if he claims a 9o and the other admits to a 5o minus 2 qoa - liable; if Y50 minus 1 o3 — 7108
II 9w and 1Ny " about denial of a full segment of a claim
a  (preface): HYR1MW — requirement of o3 "N MYV — only applies to Ty XYY MYY, but w/l 1y — even 9"V is enough to force nyaw
i Support: v.3 — 1 witness cannot generate liability, but can cause the defendant to take nyaw
b Segmented admission: YRynw - if he claims wheat and barley and the defendant admits to all the barley — liable
i Report (pny’ 7): 1y M ruled the same way (unclear if " agreed)
1 Support: "y niwn — dispute n’nan/a"1 about a claim of wheat with an admission of barley
(a) -> all agree if the claim was WB and the admission was B - liable
(b) Rejection: disagreement persists; W vs. B taught to show »™'s position
2 Support:’y mwn: mypIp) 091 — if he admits to the mypap but not 0*%3, exempt
(a) Reason: mypp are not liable for nyaw; > if it was 031 093 and he admitted to some — liable
(b) Rejection: even 931 093 is exempt — mypIp were taught to demonstrate n'ppir
(i) Note: rule of n’pp belongs here; mention in n:X PWYTP is incidental
ii  Alternate report (Nax 32 8711 77): 30y "1 ruled against S®nw — claim of WB and admission of B - exempt
1 Note: two proofs used above adduced as challenges, deflected as above
2 Challenge: if claim is “ox” and admission is “lamb” —09; if “OL” and admission is “L” — liable
(a) Answer: this is per 3 (rejected: if it were 3, even “O” vs. “L” would be liable)
(b) Answer: it follows TR in our mwn (as per 1INy 1’s identification of the author of this ruling)
III Related rulings: 13v "1 quotes YRnw with 2 rulings — if claim is W and before he could add B, defendant admitted B —1va
a  And:if he claimed 2 needles and the other admitted to one — liable (no value needed) ; that's why text reads "n95”
b 977if he claimed nv19+ 0’93 and he admitted to 0’95 — exempt (per 27 — denial too small)
i But if he admitted to nomg, liable (per YRnw — admission to full segment is still 2n)
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